Real02 Answers for No.9589

d=[r=1]

|.2=[r=-4]
Ansl = S[r=-1]f
4=[r=-6]

Real02 Answers for No.9707

d=[r=0]
|2=[r=14]
Ansl = 3=[r=17
d=[r=-1]

Ans2 =

Ans2 =

d=[m=0]

2=[m=0]
3=[m=1{2,3}]]

A=[m=-2]

d=[m=-1]

2=[m=2]
3=[m={-4,-1}]]

4=[m=6]

Ans3 =

I=(x=-1)(x+1)(x+2)
2=(x-2)(x+2)(x—=3)(x+3)
3=(x+3)(x*-3x+9)
4=(x—4)(x+4) (X" +16)
S=(x+3)(x+2) (X +x+1)
O=(x+4)(x+3)(x+2)(x—1)
J=(x+1)(5x-6)(3x—1)
LE8=(x-2)(x—-1)(2x+5)(3x+4)]

A=(x-3)(x+3)(x+4)
2=(x=-2)(x+2)(x=3)(x+3)
3=(x+3)(x*-3x+9)
d=(x—4)(x+4)(x*+16)
S=(x+5)(x+3)(x+1)(x—4)
H=(x+3)(x=1) (X" +x+2)
T=(x-2)(4x-1)(5x+2)

Ans3 =

L8=(x—=1)(x+2)(4x+5)(4x-3)]
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Real02 Answers for No.9821

A=(x-2)(x+2)(x-1)
2=(x-2)(x+2)(x=5)(x+5)

d=[r=3] d=[m=3] 3=(x-4)(xX*+4x+16)
_|-2=[r=-5] | 2=[m=-1] | A== (x+4) (P +16)
A= =1 ML Gemm=6l T i o) (Pdasn) [
4=[r=-5] 4=[m={-6,1}]

O=(x+3)(x+1)(x=2)(x—-4)
TJ=(x+3)2x-5)(4x+1)
L8=(x+3)(x—-2)(4x+1)(5x+4)]
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Real02 Answers for No.10352

SNQE® =~ XF

b=(x+1)(x-2)(x-3)(x-06)
J=(x+1)2x+5)(5x+3)
L8=(x=-2)(x—-1)(4x+3)(3x—-5)]
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:D
A=(x-2)(x+2)(x-5) M
2=(x-1)(x+1)(x—4)(x+4) 4
d=[r=19] I=[m=-3] 3=(x+2)(x’-2x+4) t
2=[r=-16] 2=[m=-2] 4=(x=-3)(x+3)(x*+9) h

Ansl = Ans2 = Ans3 =
P s=r=61 [ 3=(m=01 " S=(x-2)(x-3)(*-5x+2) | |@
4=[r=-2] 4=[m={-4,-1}] M
U
T
D
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Real02 Answers for No.10380

A=[r=10]

| .2=[r=-1]
Ansl = S[r=-71!
A4=[r=-5]

Real02 Answers for No.10412

A=[r=-13]
|.2=[r=-13]
Ansl = 3=[r=-5]
A4=[r=-2]

Ans2 =

d=[m=3]

2=[m=-5]
3=[m=1{-1,61]f

4=[m=9]

d=[m=-3]
2=[m=0]

T|3=[m={-5,-1}1]

4=[m=15]

Ans3 =

A=(x-2)(x+2)(x+3)
2=(x-2)(x+2)(x=5)(x+5)
3=(x=5)(x*+5x+25)
d=(x-1)(x+1)(x*+1)
S=(x+4)(x+3)(x—1)(x=3)
6=(x+3)(x+1)(xX*—x+2)
J=(x+1)(4x-5)(3x-5)

LE=(x-3)(x+2)(3x+5)(5x+1).

A=(x-1)(x+1)(x—4)
2=(x=2)(x+2)(x=3)(x+3)
3=(x+5)(xX*=5x+25)
4=(x=5)(x+5)(x*+25)
S=(x+4)(x+3)(x+2)(x+1)
6=(x+3)(x+1)(X*+3x+1)
J=(x+1)(3x+5)(5x+3)

8=(x-1Y(4x-5)(5x-6) |

Ans3 =
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Real02 Answers for No.10487

A=[r=17]
| 2=[r=T7]
Ansl = 3=[r=7]f

A4=[r=6]

Real02 Answers for No.10644

d=[r=-8]
|.2=[r=11]
Ansl = S=[r=-4]f
A4=[r=-6]

Ans2 =

Ans2 =

1=[m=0]
2=[m=-3]
3=[m=-7] |

A=[m=1{-7,4]

d=[m=-1]

2=[m=0]
3=[m=1{-5,611f

A=[m=-4]

Ans3 =

A=(x-4)(x+4)(x+5)
2=(x-1)(x+1)(x—=2)(x+2)
3=(x+3)(x*-3x+9)
4=(x=3)(x+3)(x*+9)
S=(x+2)(x=-3)(x*—4x+1)
O=(x+6)(x+2)(x+1)(x—2)
T=(x+3)(5x+2)(3x+4)

Ans3 =

LE=(x+1)(x-3)(5x+4)(4x—-3)._

A=(x-1)(x+1)(x+5)
2=(x-1)(x+1)(x=2)(x+2)
3=(x+5)(x*=5x+25)
4=(x=5)(x+5)(x"+25)
S=(x-1)(x=3)(x"+5x+1)
6=(x+5)(x+2)(x—1)(x—4)
J=(x+2)3x+2)(2x-1)

| 8=(x-1)(x+2)(3x-2)(5x-2).
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Real02 Answers for No.11101

A=[r=11]
| 2=[r=T7]
Ansl = 3=[r=-d]f

A4=[r="7]

Real02 Answers for No.11613

A=[r=4]
_|.2=[r=0]
Ansl = 3=[r=1]f
4=[r=5]

Ans2 =

I=[m=0]

2=[m=1]

3=[m=0]
A=[m={2,4]

d=[m=0]

2=[m=-5]
3=[m=1{-5-411)

4=[m=19]

Ans3 =

I=(x-4)(x+4)(x+1)
2=(x-1)(x+1)(x=3)(x+3)
3=(x+2)(x*=2x+4)
4=(x—4)(x+4)(x"+16)
S=(x+4)(x+3)(x+1)(x—4)
6b=(x-1)(x-2)(x**=3x+1)
J=(x+2)(3x+2)(2x+5)

Ans3 =

LE=(x—-1)(x+2)(4x+5)(5x+1).

A=(x-3)(x+3)(x—-1)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x+5)(x*=5x+25)
4=(x=5)(x+5)(x"+25)
S=x+2)(x-1)(x—-2)(x—4)
H=(x+2)(x-1) (X" +4x+1)
T=(x+2)(5x-4)(4x+1)

| 8=(x+3)(x=2)(4x+3)(3x-2).
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Real02 Answers for No.11720

A=[r=-5]

| 2=[r=28]
Ansl = 3=[r=31f
A4=[r=-1]

Real02 Answers for No.12122

A=[r=-14]

| .2=[r=16]
Ansl = 3=[r=5] | A

A4=[r=3]

Ans2 =

ns2 =

d=[m=5]

2=[m=2]
3=[m={-1,71]f

4=[m=6]

d=[m=-1]

2=[m=3]
3=[m=-14] |
4=[m=1{5,6}]

Ans3 =

I=(x-4)(x+4)(x+1)
2=(x-1)(x+1)(x—=2)(x+2)
3=(x=-5)(x*+5x+25)
4=(x=5)(x+5)(x"+25)
S=(x+3)(x+1)(x—4)
6=(x+3)(x-1)(X*=5x+1)
7=(x=3)(5x-2)(3x-5)

L 8=(x+1)(2x=5)(5x+6) |

A=(x-3)(x+3)(x+5)
2=(x=2)(x+2)(x=3)(x+3)
3=(x+5)(x*=5x+25)
d=(x—4)(x+4)(x"+16)
S=(x+3)(x+2) (X +x+2)
Gb=(x-1)(x=2)(x—4)(x—6)
J=(x+2)(4x-5)(4x-3)

| 8=(x+1)(x+2)(4x+3)(3x-2).
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T=(x=-2)(2x+3)(3x-1)
L.8=(x-3)(x—1)(5x—-4)(4x-3)]

Real02 Answers for No.12133
:D
I=(x-4)(x+4)(x-3) M
2=(x-1)(x+1)(x-3)(x+3) a
I=[r=6] d=[m=-1] 3=(x—4)(x*+4x+16) t
_|-2=1[r=5] | 2=[m=-3] | A= -4 (x+4) (X +16) h
AnST=) 3 frmalb 25 3o tm=12,6)10 7T soedy @)D @-5) | C|l@
A4=[r=1] 4=[m=-10] 6=(x+3)(x-1)(X*+5x+1) M
U
T
:D
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Real02 Answers for No.12317
A=(x—-4)(x+4)(x+5)
2=(x-2)(x+2)(x=-3)(x+3)
3=(x—4)(x*+4x+16)

d=[r=-17] I=[m=0]

| .2=[r=18] | 2=[m=-16] B 4=(x=3)(x+3)(xX*+9)
AnsI= s _tr=ay b 250 3-tm=-6] P T 5o (es)(re2)(r-1)(x-2)
A=[r=-1] 4=[m=1{-3,6}] 6=(x+3)(x+2) (X +3x+1)

J=(x-3)3x+1)(5x+6)
LE8=(x+1)(x+2)(3x-5)(4x-3)]
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Real02 Answers for No.12380

d=(x-1)(x+1)(x+5)
2=(x-1)(x+1)(x-3)(x+3)
d=[r=1] d=[m=1] .3=(x+2)(x2—2x+4)

|.2=[r=-16] | 2=[m=-2] B Ad=(x-1D(x+1)(x*+1)
S I e BT b1 N i I S YIS S SN
A=[r=-T] 4=[m={-523}] 6=(x+6)(x+4)(x+2)(x+1)

J=(x=-3)3x+1)(3x-5)
L8=(x=-3)(x—1)(4x—-1)(2x+1)]
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Real02 Answers for No.12498

:D

A=(x-1)(x+1)(x+4) M

2=(x-2)(x+2)(x=5)(x+5) a

d=[r=17] d=[m=0] 3=(x+2)(x’=2x+4) ‘

| 2=[r=4] | 2=[m=0] | A4=(x-5) (x+5) (X7 +25) h
AT o= M =5 T ooy e (Posxe) || @
A=[r=T7] A4 =[m=15] 6=(x+6)(x—1)(x=2)(x-3) M
J=(x+1)(2x-3)(5x+6) U

L 8=(x-1B3x+2)(3x—-1) | zT)
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Real02 Answers for No.12554

d=[r=1]

|.2=[r=15] B
Ansl = 3[r=2]! Ans2 =
A4=[r=-3]

Real02 Answers for No.12836

A=[r=-1]
|.2=[r=-17] 3
Ansl = 3=[r=4] | Ans2 =

A4=[r=6]

I=[m=0]

2=[m=-5]
3=[m=1{-7,-611f

4=[m=0]

A=[m=-1]

2=[m=4]
3=[m={-6,-2}](

A=[m=T]

Ans3 =

Ans3 =

S=(x-1)(x-2)(4x-1)(3x+5)]

I=(x=-1)(x+1)(x=3)
2=(x-3)(x+3)(x—-4)(x+4)
3=(x+4)(x*—4x+16)
d=(x-1)(x+1)(x*+1)
S=(x+2)(x=3)(X*=5x+2)
O=(x+4)(x+1)(x=2)(x—6)
J=(x=3)(4x-1)(3x+5)

A=(x-3)(x+3)(x—4)
2=(x-2)(x+2)(x=5)(x+5)
3=(x—4) (X" +4x+16)
4=(x=-3)(x+3)(x*+9)
S=(x+5)(x+3)(x—-1)(x—-2)
b=(x+1)(x=3)(X*=2x+2)
J=(x-1)B3x+1)(5x-1)

| 8=(x+2)(x+3)(4x+1)(2x+1)]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKX XKL XKL XXX KX KKK XKL LKL KKK LKL LXK KKK KKK KKK X KKKKKKKKKME /2-6500104-00017XX

TNCX®@=~2 X

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KX KK KKK KKK XKKXKKKME /2-6500104-00018XX

:D

DNQSRO®s~ 28 K

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKXXKKKKKKK XXX XXX KKK KKK KKK KKK KK KKK KK KKK KKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXXXKXKXXXKX XXX XXX KKK XKLL XKL XKL LKL KKK LXK KKK KKK KKK K KKKKKKKKKMEL /2-6500104-00019XX

Real02 Answers for No.12959

A=[r=7]
_|.2=[r=20] B
Ansl = 3=[r=6] Ans2 =

4=[r=6]
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Real02 Answers for No.12967

A=[r=-5]

| 2=[r=-4]
Ansl = 3=[r=7]" Ans2

A4=[r=-2]
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d=[m=-18]
2=[m=1]
3=[m=12]

A=[m=1{5,6}]

d=[m=-2]
2=[m=0]
3=[m=-12]
A=[m=1{4,7}]

9

M

Ans3 =

Ans3 =

d=(x=3)(x+3)(x+2)
2=(x-3)(x+3)(x=5)(x+5)
3=(x-4)(xX*+4x+16)
4=(x-2)(x+2)(x*+4)
S=(x+1)(x=-2)(xX*+x+2)
Ob=(x+4)(x—-1)(x=3)(x-95)
T=(x-1)4x+5)(3x-1)

LE8=(x+3)(x-2)(3x+1)(2x+1)]

A=(x-3)(x+3)(x—4)
2=x-1)(x+1)(x=-5)(x+5)
3=(x-2)(+2x+4)
4=(x—-4)(x+4)(x"+16)
S=x+3)(x+2)(x+1)(x—-2)
6b=(x+1)(x=3)(x**-3x+1)
J=(x-2)3x-1)(3x+4)

L8=(x-1)(x=-2)(2x=1)(3x+5).

T
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Real02 Answers for No.12975

=[r=1]

=[r=14]
[r=-31[

[r=1]

i
2
Ansl = 3

4

Real02 Answers for No.12979

d=[r=10]
2=[r=12]

Ansl = 3=[r=-71
A=[r=4]

Ans2 =

I=[m=0]

2=[m=0]

3=[m=-3] |
d=[m={2,41]

d=[m=0]
2=[m=15]

T 3=m={-1,7}]f

4=[m=5]

Ans3 =

Ans

A=(x-2)(x+2)(x+5)
2=(x-1)(x+1)(x—4)(x+4)
3=(x-1) (P +x+1)
d=(x-1)(x+1)(x*+1)
S=(x+5)(x-1)(x=2)(x—4)
b=(x+2)(x+1)(x¥*=3x+1)
J=(x+3)3x-5)(5x-1)

3=

LE=(x+1)(x—-2)(4x—-5)(3x+1).

A=(x-3)(x+3)(x-5)
2=(x=2)(x+2)(x—4)(x+4)
3=(x+5)(x*=5x+25)
Ad=(x-2)(x+2)(x"+4)
S=(x+5)(x+4)(x+2)(x—-1)
b=(x-1)(x=2)(x**=5x+1)
J=(x-3)3x+2)(3x+5)
L 8=(x+2)(x+3)(3x=1)(3x+4)]
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Real02 Answers for No.13010

A =[r=-10]
| 2=[r=-1]
Ansl = 3o[r=d4] |

4=[r=-3]

Real02 Answers for No.13020

A=[r=8]
|.2=[r=-8]
Ansl = 3=[r=4]f
A=[r=-3]

Ans2

Ans2 =

A =[m=-3]
| 2=[m=5] B
= 3=[m=0] | Ans3 =
A4=[m={1,6}]

d=(x=-3)(x+3)(x=2)
2=(x-3)(x+3)(x—4)(x+4)
3=(x+2)(x*=2x+4)
4=(x=5)(x+5)(x"+25)
S=(x-1)(x=3)(x*-5x+1)
O=(x+5)(x+4)(x—-1)(x—-2)
T=(x=3)(4x+5)(5x+2)

d=[m=0]

2=[m=0] ~
Sl 32[m=1{7.50]p A3

A=[m=-1]

LE=(x+1)(x—-3)(5x+4)(4x+3).

A=(x—-4)(x+4)(x—-1)
2=x-1)(x+1)(x=5)(x+5)
3=(x+1)(x*=x+1)
d=(x=2)(x+2)(x*+4)
S=(x+1)(x-2)(x=3)(x—-95)
H=(x+2)(x+1) (X +x+1)
J=(x+2)(3x+2)(2x+5)

L8=(x+1)(x=3)(4x-1)(5x—4)]
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A=[m=-1]
T=(x+3)(5x-1)(2x+5)

| 8=(x+3) (4x-1)(3x-1) |

4=[r=1]

Real02 Answers for No.13028
i :D
d=(x=1)(x+1)(x+4) M
2=(x-3)(x+3)(x=5)(x+5) a
I=[r=1] I=[m=1] 3=(x+4)(x ~4x+16) ‘
|2=[r=-7] | 2=[m=0] | A=(x—4) (x+4) (X7 +16) h
A= 3 lr=21) M =5 1) T o) (-2 (Posxe) || @
b=(x+5)(x-1)(x=2)(x-3) M
U
T
:D

1
I

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XKKXKKKME /2-6500104-00026XX

Real02 Answers for No.13053
:D
A=(x-3)(x+3)(x-2) M
2=(x=2)(x+2)(x—4)(x+4) u
d=[r=-6] d=[m=21] 3=(x—-4)(x*+4x+16) t
|.2=[r=-10] | 2=[m=0] B Ad=(x-2)(x+2)(x"+4) h
AnsI= s =4y AT 3o m= 3,501 T scr) - (-4 (x-6) | | @
4=[r=-4] 4=[m=-6] 6=(x+2)(x=3)(x*-2x+2) M
J=(x-1)(5x+2)(3x+1) U
T
:D

L8=(x—-1)(x—-2)(4x-3)(3x—-2)]
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Real02 Answers for No.13068

Real02 Answers for No.13086

A=[r=5]
|.2=[r=-20]
Ansl = 3=[r=4] |

4=[r=1]

Ans2 =

I=[r=9] d=[m=0]
|.2=[r=10] | 2=[m=-20]
Ansl = 3=[r=-3]] Ans2 = S=[m={2-111]

4=[r=-6] A4=[m=-8]

I=[m=0]
2=[m=2]
3=[m=-10]

d=[m={4,-1}]

M

Ans3 =

S=(x-1)(x+2)(2x+3)(4x—-5)]

d=(x=-3)(x+3)(x=5)
2=(x-4)(x+4)(x-5)(x+5)
3=(x—4)(x*+4x+16)
d=(x-1)(x+1)(x*+1)
S=(x=-1)(x=3)(*+3x+1)
O=(x+6)(x+3)(x+1)(x—-2)
J=(x+2)(5x+1)(4x+1)

A=(x-1)(x+1)(x-3)
2=(x=1)(x+1)(x—4)(x+4)
3=(x-1)(+x+1)
4=(x—-4)(x+4)(x*+16)
S=(x+2)(x=3) (X +2x+2)
G6=(x+5)(x=1)(x=2)(x=3)

T=(x+2)3x+1)(5x-1)

L S8=(x+1)(x=2)4x-5)(3x+1)]

TNCX®@=~2 X

DNQSRO®s~ 28 K
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Real02 Answers for No.13111

d=[r=-16]

| 2=[r=4]
Ansl = 3=[r=7]
4=[r=-5]

Real02 Answers for No.13116

A=[r=4]
|.2=[r=-5]
Ansl = 3=[r=3]f
4=[r=6]

A=[m=4]

B 2=[m=0] B

, Ans2 = S=[m=1{3.5}]f Ans3 =
4=[m=-10]

Ans2 =

I=(x=3)(x+3)(x+5)
2=(x-2)(x+2)(x—=3)(x+3)
3=(x=5)(x*+5x+25)
4=(x=5)(x+5)(x"+25)
S=(x-1)(x=-2)(x*+x+1)
O=(x+6)(x+1)(x—2)(x—4)
T=(x-2)3x-4)(4x+1)

d=[m=3]

2=[m=-5]
3=[m=1{-6,7}1[

4=[m=3]

Ans3 =

L8=(x—-1)(x+1)(2x-1)(5x—4)]

A=(x-5)(x+5)(x+3)
2=x-1)(x+1)(x=5)(x+5)
3=(x-2)(x*+2x+4)
4=(x—-4)(x+4) (X" +16)
S=(x+3)Y(x+2)(x+1)
6=(x-2)(x=-3)(x*—x+2)
T=(x-2)3x+1)(4x+3)

| 8=(x—-2)(x+2)(2x+1)(5x+2)]
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Real02 Answers for No.13122

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XKKXKKKME /2-6500104-00032XX

Real02 Answers for No.13123

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XX XXX XKKKKXKKXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKKKK KKK KKKKKK

A=[m=1]
2=[m=3]
=[m={-1,5}]]
4=[m=-6]

d=[m=-4]

2=[m=3]

3=[m=-6]
A=[m=1{4,6}]

A=(x-1)(x+1)(x+3)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x+5)(x*=5x+25)
4=(x—4)(x+4)(x"+16)
S=(x+5)(x+4)(x+2)(x+1)
6=(x+3)(x=2) (X +x+1)
J=(x=-2)(5x+1)(3x-2)

LE=(x—-1)(x+1)(3x—-2)(4x+3).

A=(x-1)(x+1)(x+5)
2=(x=1)(x+1)(x—4)(x+4)
3=(x+2)(x*=2x+4)
4=(x=-3)(x+3)(x*+9)
S=(x-1)(x-2)(x*"-4x+1)
6=(x+2)(x—1)(x=3)(x—4)
J=(x-3)3x-1)(2x+3)

| 8=(x+3)(x+1)(2x-3)(4x-3).
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Real02 Answers for No.13126

A=[r=13]
|.2=[r=11]
Ansl = S=[r=-71"
A=[r="7]

Real02 Answers for No.13325

A =[r=-3]

| .2=[r=2]
Ansl = 3=[r=-71]

A4=[r=1]

Ans2 =

Ans2 =

d=[m=-7]
2=[m=-2]
3=[m=0]

A=[m=1{-5-1}]

d=[m=-1]

2=[m=5]

3=[m=-7]
A=[m=1{3,4}]

2

M

Ans3 =

Ans3 =

I=(x=-1)(x+1)(x=3)
2=(x-3)(x+3)(x—-4)(x+4)
3=(x-1)(x"+x+1)
4=(x=2)(x+2)(xX*+4)
S=(x+2)(x-1)(x=2)(x—-6)
6=(x+1)(x=3)(x**=5x+2)
J=(x=2)(4x-5)(5x-3)

L.8=(x-2)(x—=3)(3x+5)(5x—-1)]

A=(x-2)(x+2)(x+1)
2=(x-1)(x+1)(x=3)(x+3)
3=(x-2)(+2x+4)
4=(x=5)(x+5)(x*+25)
S=x+2)(x-1)(x-3)(x-5)
b=(x+1)(x=2)(xX*-4x+2)
J=(x-1)(3x-2)(3x+1)

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXKX XXX XXX KKK XKLL XKL XKL LKL KKK KKK LXK XKL KKK K KKKKKKKKKMEL /2-6500104-00033XX

L 8=(x—1)(x+2)(3x+1)(3x+2).
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Real02 Answers for No.13421

A=[r=-7]
|.2=[r=-9]
Ansl = 3=[r=7]f
A4=[r=-4]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK LXK K KKK KKK KKK KKK XKKXKKKME /2-6500104-00036XX

Real02 Answers for No.13646

d=[r=-2]
|.2=[r=-16]

Ansl = 3=[r=-1]7
A=[r="7]

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXXKXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKK KKK KKKKKK

A=[m=3]
B 2=[m=-4]
Ans2 = 3=[m=-6]

d=[m=1{-74"]

b

A=[m=0]

3 2=[m=0]
Ans2 = 3=[m=-4] |
A=[m=1{-573}]

Ans3 =

Ans3 =

A=(x-1)(x+1)(x-5)
2=(x-1)(x+1)(x—=2)(x+2)
3=(x+4)(x*-4x+16)
4=(x—4)(x+4)(x+16)
S=(x+2)(x+1)(x=3)
6=(x+3)(x+1) (X +2x+2)
7=(x-3)(4x-1)(2x-5)
8=(x+1)(x—2)(3x-4)(3x-5)]

A=(x-4)(x+4)(x+2)
2=(x=3)(x+3)(x=5)(x+5)
3=(x—4)(x*+4x+16)
d=(x-1)(x+1)(x*+1)
S=(x-2)(x=-3)(x*"-4x+2)
6=(x+6)(x+2)(x+1)(x—4)
T=(x+2)(2x+5)(5x+3)

L8=(x-3)(x+2)(3x+1)(5x—6).
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Real02 Answers for No.13862

A=[r=12]

| .2=[r=-3]
Ansl = 3=[r=3]f
A4=[r=2]

Real02 Answers for No.13943

A=[r=10]
| .2=[r=8]
Ansl = 3=[r=2] |

d=[r=-1]

Ans2 =

Ans

2_

d=[m=14]

2=[m=0]

3=[m=-12] |
A=[m={-7,5}]

A =[m=18]
2=[m=1]

| 3=[m=1{-7,3}](
A4=[m=-3]

Ans3 =

I=(x=2)(x+2)(x+4)
2=(x-1)(x+1)(x=3)(x+3)
3=(x+2)(x*=2x+4)
4=(x—4)(x+4)(x"+16)
S=(x+3)(x+1)(x=2)(x—4)
6b=(x-1)(x=3)(x*"=5x+1)
J=(x=1)(4x+1)(4x-3)

Ans3 =

LE=(x—-1)(x+1)(5x+4)(4x—-1)._

A=(x-2)(x+2)(x+5)
2=(x=3)(x+3)(x=5)(x+5)
3=(x+2)(x*=2x+4)
d=(x—4)(x+4)(x"+16)
S=(x+5)(x+4)(x+3)(x—-1)
b=(x-1)(x=3) (X" +5x+2)
J=(x+3)3x-1)(4x-3)

L8=(x—=-1)(x+2)(3x-2)(3x-5)]

BNCEX®@s~2 X

SNQOX® =~ XF
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Real02 Answers for No.13968

A=[r=14]

| 2=[r=28]
Ansl = S=[r=7] "
A4=[r=-5]

Real02 Answers for No.13981

d=[r=-13]
| 2=[r=3]
Ansl = 3=[r=-1]7
A=[r="7]

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XX XKKKKK XXX XKKKKKKK XXX XXX KKK KKK KKK KKK KK KKK KKKKKK

Ans

2_

d=[m=4]

2=[m=4]

3=[m=-6] [
4=[m=1{4,5}]

=[m=0]
2=[m=0]

T 3=[m=1{-45}](
4=[m=8]

d=(x=3)(x+3)(x+5)
2=(x-2)(x+2)(x—4)(x+4)
3=(x=5)(x*+5x+25)
d=(x-1)(x+1)(x*+1)
S=(x-1)(x=-3)(x*-x+2)
O=(x+5)(x+3)(x+2)(x—-1)
J=(x=1)(5x+2)(4x+3)
L8=(x+1)(x—-2)(3x-5)(5x—-2)]

A=(x-2)(x+2)(x—-4)
2=(x-4)(x+4)(x-5)(x+5)
3=(x+5)(x*=5x+25)
d=(x=2)(x+2)(x*+4)
S=(x+6)(x+4)(x+2)(x+1)
6=(x-1)(x=2) (X" +3x+1)
T=(x+3)2x+1)(5x+4)

Ans3 =

L8=(x—=1)(x+1)(3x+2)(4x-5)]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XK KX KKK KKXKKKME /2-6500104-00040XX
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Real02 Answers for No.14006

Real02 Answers for No.14020

A=[r=0]
|-2=[r=19] 3
Ansl = 3=[r=-6]f Ans2 = 3

A4=[r=3]

A=[r=8] .

| 2=[r=1] B
Ansl = 3=[r=-31 Ans2 = 3
A4=[r=-1] )

I=[m=5]
2=[m=3]
=[m={2,4}1
4=[m=12]

A=[m=1]
2=[m=3]
=[m={-1,3}]
A=[m=-T]

Ans3 =

I=(x=2)(x+2)(x+1)
2=(x-4)(x+4)(x-5)(x+5)
3=(x=5)(x*+5x+25)
4=(x-3)(x+3)(x*+9)
S=(x+6)(x-1)(x=3)
6=(x-1)(x=-3)(x*"-4x+2)
J=(x+1)(2x=5)(4x+1)

S
-

Ans3 =

L 8=(x+1)Y(5x+1)(3x+4) |

A=(x-4)(x+4)(x-5)
2=(x-1)(x+1)(x=5)(x+5)
3=(x+1)(x*=x+1)
Ad=(x-2)(x+2)(x"+4)
S=(x+3)(x-1)(x¥*=3x+1)
6=(x+5)(x+3)(x=1)(x=3)
T=(x+2)2x+1)(5x+2)

LE8=(x+1)(x—=3)(2x+1)(5x—-2)]
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Real02 Answers for No.14022

A=[r=3]
| .2=[r=0] B
Ansl = 3=[r=-11f Ans2 =
4=[r=1]
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L >

d=[m=0]
2=[m=-8]
3=[m=-11]

d=[m=1{-1,4}]

b

Ans3 =

d=(x—4)(x+4)(x+3)
2=(x-1)(x+1)(x—=2)(x+2)
3=(x-1) (P +x+1)
4=(x—4)(x+4) (X" +16)
S=(x+3)(x=1)(x=2)(x-3)
6=(x+3)(x+1)(X*+3x+1)
J=(x+3)3x-1)(4x+3)

LE8=(x+2)(x+3)(3x+1)(5x+4).
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